el 0 0 0 0 0
Beero 38,9 15,0 15,0 194,0 1040
MB 38,9 15.0 15.0 194,0 194.0
05 0 0 ) 0 ()
Beero, B Tom
yucae: OB () 0 () 0 ()
2.1. OcHoBHOE
MEpPONPHUATHE: MECTIT 0 0 0 0 0
«Co3naHue
HE0OX0AMMbIX HH 0 0 ° 0 0
YGIQRRE Ans 194,0 194,0
TOBBILLEHHS Bcero 38,9 15,0 13,0
3¢ derTHBHOCTH
rocynapcTBeHHOI = . . 194,0 1940
MOJIOAEIKHOTT Mb 389 15,0 13,0
MOJMTHKH B 0 0 0 7 0
TynyHCcKoM 3 ob
pafioen. Komumem
no Kyasmype 0 0 0 0 0
OF
0 0 0 0 0
MBCTT
il () 0 0 () ()
Beero 38,9 15,0 15,0 194,0 194,0
MB 38,9 5.0 15.( 194,0 194,0
Bceero, B Tom | OF [0 0 0 0 0
2.1.1. quene: (7 0 () 0 () ()
MeponpusaTus 1o MEBCTT 0 0 0 () 0
peanusaumnu HH () 0 0 () 0
roCynapCTBEHHOI Beero 38,9 15,0 15, 194.0 194,0
MOJIOAEKHOH MbB 38,9 13,0 5.0 194,0 1940
NIOIUTHKH Komumem Ob 0 () () 0 ()
no Kyiemype | b 0 0 () () ()
MBECTIT 0 0 () () ()
1 0 0 () 0 0
INonnporpamma 3 Beeeo 15,0 15,0 5, 105,0 105,0
«poghuiarimura Mb 15,0 15,0 ) 105,0) 105,0
3A0YROIMpedIeHIUA Beezo, 6 Ob () 0 0 0 ()
HAPKOMUYECKUMU IOM YUCHe:! (o () () 0 0 ()
cpeocmeanmu MBCTI () 0 0 0 ()
U nCUXOmpPORHbIMU il 0 0 0 0
eenjecmeamu Beezo 15,0 13, 15,0 105,0 105,0
cpedudemelit u Mb 13,0 13,0 3.0 103,0 103,0
MO100exucH B OF 0 0 0 0 0
¢ Tyayuckom no kyvmype | &5 0 0 0 0 0
padoney ia 2027- MECTT 0 0 0 0 0
2EG 2l 11 0 0 0 0 0
Bcero. B ToM Beero 15,0 15,0 15,0 105,0 105,0
3.1. OcHoBHOE ? = = = = =
MEpOTIpHATHE: yucne: AAE 15.0 15,0 15,0 1050 105,0
«Coznanue ()/)‘ 0 0 () 0 0
HEOOXOAMMBbIX Pb 0 0 0 0 0
yCII0BHit s MBCTT 0 () 0 0 0
O —— 1 0 0 0 0 0
3(pdheKTUBHOCTH Konumem Beero 15,0 15,0 5,0 105,0 105,0
MpOGUNAKTHKH o Kyaomype | Mb 15,0 15,0 3,0 105.0 103.0
HAPKOMAHHHU 1 0b 0 0 0 0 ()
JIpYTHX @b 0 0 0 0 ()
coLManbHO- MbCT () 0 0 0 0
HETaTHBHbBIX 0 () () 0 0
SBJIEHUI B Hi

TynyHckoM




